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There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following
four sections : Section-1, Il & I1I of 30-30 questions each and Section-IV is of 60 questions. The candidate “ax to
attempt all sections. Each question is of one mark. There is no negative marking for wrong answer,
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PAPER CODE : ST2-2012
Total questions : 150 Time period : 90 minutes Maximum Marks : 150

. No.of | Question Nos. Page Nos.
Soitien Contents .Questions From To From To
(I) Child Development and Pe 30 1 30 3 14
(1) Language I (Only One Language) 30 31 60
As selected by the candidate as medium of
instruction l‘m u;le La(?nlme Apphcalar'uow Form as
Language-1 [rom the Languages given o
Hindi 30 31 60 15 | 18
English 30 31 60 19 22
Sanskrit | 30 31 60 23 26
Urdu ~ 30 31 60 T T i |
~ Sindhi ﬂ'd"_‘ T 31 | 60 31 aq |
Punjabi 30 31 60 35 38
— Gujarati| 30 31 60 | 39 ry)
(1) Language Il (Only One Language) 30 61 90
As selected by the candidate as Language-ll ( other
than the Language-l ) in the Online Application
Form from the Languages given below :
Hindi 30 61 90 43 46
English 30 61 90 47 50
Sanskrit 30 61 90 51 54
Urdu 30 61 90 55 58
Sindhi 30 61 90 59 62
Punjabi 30 61 90 63 66
e Gujarati 30 61 90 - 67 70
) (IV a) Mathematics and Science 60 91 150 71 86
(For Mathematics and Science Teacher)
OR
(IV b) Social Studies 60 ¢ 91 150 87 98
(For Social Studies Teacher)
OR
~~For any other Subject Teacher
(Can choose either IV a or IV b)

Note: 1. In Sections Il and IIl, a candidate has to attempt the questions of Languages compulsoril,, sclocted
as Language - | and l.anguagc - Ilin the Online Application Form. -
2. In Sections IV, it is compulsory to attempt the questions of Section IV (a) or Section IV (b) as selected
subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2

[ Read the instructions in English & Hindi at Page No.s104, last page of this booklet. |
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SECTION -1 / @UE - 1
CHILD DEVELOPMENT AND PEDAGOGY
are faena wd frameme |
There are 30 questions in all in this Section.
All questions are compulsory.
TWERHFA 30WAE |
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1. Which of the following statements is not true about the effects of malnitrition ?

(A) It affects the brain cells in the later years of iife
(B) It affects the child’s learning abilities
(C) The children tend to be depressed and nervous
(D) It affects growth in height.
FIF VA F M AP T A - m s ga =i & ?
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() =rorw Frw wE snvifea wd €
(D) FE F2 = yefad FT R |

2.  Which of the following is not an outward expression during puberty ?
(A)  Rebellion against authority (B) Restlessness

(C) Assertion of independence (D) Prefer sedentary play to the active play.
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3.  Which of the following statements is not in agreement with the development of middle
school children ?

(A)
(B)
(€

(D)

The social behaviour is increasingly influenced by peer group norms
Most children do not grow rapidly during this period
Self-efficacy becomes an important influence on intellectual and social behaviour

Most of the students are typically self-centred.

fr § & #-w wua fufee oo @ F faeanfdal & fawma | weafa =€ @ ?
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4.  Which of the following statements is correct about the relationship of learning and

maturation ?

A

(B)

(C)

(D)

Where human development is due to maturation alone, individual would be
reduced to a minimum.

With the limitation of heredity potential, children can develop beyond a certain
limit.

With increased effort children can learn even when they are not developmentally
ready to learn.

Children’s innate capacities must be encouraged to develop without
consideration of time,

FumE e F oy i 3 s-m s g & 2
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5.  One of the principles of development is that happiness varies at different periods in

the development pattern. According to this principle

(A) the first year of life is usually the happiest period

(B) the puberty is the happiest period of life and the first year is also the happiest
period of life

(C) the puberty is the most unhappy period of life

(D) the first year of life is the happiest and the puberty is the most unhappy period
of life.

A

'
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6.  whnich of the following contributes most in the learning and development of children ?
(A) Family, Peer group and Television (B) Family, Peer group and Teacher
(C) Family, Play and Computer (D) Family, Play and Tourism.
e A - e % sfm vd fawa | wad sfvs dmem a ® 7
() ufER, TvEEE gy SR 2efasH (B) m,mwmw
(€) dRER, @« vd Fegen (D) ufER, @« vE i |
" 7.  To which of the following statements should a teacher agree ?

(A) Intrinsic motivation occurs when learners do something to experience external
satisfying results.

(B) Extrinsic motivation occurs when learners do something to earn external

rewards. indiresult.in whatsapp - 9352018749

(C) External rewards lead to permanent behaviour change.
-

(D) External rewards lead to intrinsic motivation. *
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8. A teacher gives a blank outline map that shows the location of rivers, mountains,
valley and plains etc. He asks students to figure out where the major cities railways

and highways connecting the major cities might be located. Stuaenls are not permitted

to consult books or other maps. Here the teacher's approach is
(A)  Discovery approach (By Concept map
(C) Problem solving approach (D)  Enquiry approach.

TF S qHfEA ) wrel w9 A e e, vergl, Ao @ il w wefifs wwa ¥ aw
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(C) HvT N I9NTH D) F=YY IYTH |

9.  Which of the following is not an example of Bandl.n'a‘s observational learning ?
(A)  Students learning of dissection of earthworm '
(B) Enthusiasm about cricket
(C) Disdain for the study of social study
(D) Packing the school bag on ringing of school bell.
= A | F1-7 e A F AaEEw anfE sfem w i d 2
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10. Rajesh misses a month of school because of his illness. When he returns to gchool. he
does not know how to do his long division assignments. After a number of frustrating
experiences in which he fails long division problems, he feels anxious whenever he
encounters a division task. As per the classical conditioning theory emotional
unconditioned stimulus ( ucs ) is |

(A)  Anxiety about failure (B) Failure / Frustration
(C) Long division problem (D) Anxiety about long division problems.
THY HHA F FAW UF WEA o famed 7 oA maﬁumwﬁaﬂum#:aﬁamdfﬁ
. HET TG A | FE AR F FroeremE FgvEl ¥ sEwea €19 o | W F warel & a@d g
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* (&) srEEAd F A Fam (B) G / WM
() @& um ¥ T D) creh ot el e P 1
11. Which type of learning mainly influences personality of the child ?
(A)  Trial and Error learning (B) fmitaﬁon learning
(C) Insightful learning (D) Instructlonal learning.
areTs F sAfaaE & fH8 wwr 1 At sfus wwfag s d 2
&) vae e fe sfemm | I st
Q) Frfeq A o) | FIswcTEs s

12.  Which of the following statements about individual differences is true ?

(A} If the intelligence level of the students is same, still the level of achievement will
be different.

N (B) All the children do not have some similarities.

| . (C) The curve showing individual differences is tilted to one direction or pole.
(D) Individual differences are due to heredity.
e fafimmmal & safud Fra A A s s wdt & 7,
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14. Which of the following is n ojective technique 2" "

(A)  Play technique (B) Word association test
(C) Picture association test (D) Case study.

1§ @ - aFHrE IR awAE T8 ¢ 2

(A) S TEAE (B) W= Hewd g

(© fa= we=d giem (D) Al A |

15. Which of the following do not help in understanding the ethnic individual differences ?
(A)  Value system
(B) Verbal and non-verbal communlcatlon
(C) Different learning arrangements & processes
(D') Intelligence.
wontaa =afea fafismed # wagm § o3 § | 7 7R wifaa 7@ @ ?
A T EE B) W= wE H-wfes, T
() wfym st virad wE fafimaaed (D) 9@

16. Personality is the dynamic organisation within the individuatot those psycho-physical
systems that determine his unique adjustment to his environment. This definition of
personality is given by

(A)  Murray (B) J. B. Watson
(C) G.W. Allport (D) Skinner.

e e § 39 wARfes sraensi &1 TeeTE We § S anE & Y I SYE HEeT
= favifta s & | =afaae #1 g% ofowe & @

@ T (B) To dlo aeEA
© o T=Hgo AN (D) =T |
17. The intelligence of children is generally tested by
(A)  Non-verbal group intelligence tests (B) Verbal group intelligence tests
(C) Non-verbal individual intelligence tests (D) Verbal individual intelligence tests.
¥ A fg #1 Are= fFa o &
W) - wgE qfe TaEi F g B) ~ afas gy afs Thwi ¥ g

© @ safsm 4 wiem & g (D) “afere =aferm afg vl % g |
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18. Which of the following indicates the misuse of intelligence tests ?

19.

20.

(A)  Use in assessment for promotion

(B) 1.Q. labels tagged to children are used by leachers as an excuse for inefficiency
(C) Use in classifying children

(D) Use for improving learning process.

fra § | #m 3 vhel F germ w EFa dm ¥ 2

W 0 ferd mne ¥ wer

B) Afe A 1 Haw el WA FT AATEH AT 3-Feerm F foud &
(© TS H ity w3 A

o) ST i w e T % e )

Which of the following is not a characteristic of backward children ?

\

(A)  The educational attainment falls below the level of their natural abilities.
(B) They are unable to keep pace with the normal school work.
(C)  Fall far behind other children of his age.
(D) Possess low intelligence.
fr= § & Fh-9 fuog g3 T =t favm 325 & ?
(At wofa wem A @ FW 'R F Maw svate #1 weeE w0 §
(B) g famed @ % w9 3 i 781 @ W
©  swh srg % A @ 9 oy o ¥

D) =Fnafzgwad & o ,
indiresult.in whatsapp - 9352018749
Which of the following is a direct method of adjustment ?

(A)  Projection (B) Repression

(C) Regression (D)  Substitution of Goals.
= F & Fm v wow wemEee w2

(A  wa | |

€ wfemA (D) &&df F1 wiaeea | .
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21. Separate classes and enrichment programmes can be used for the education of
gifted children (B) low achiever children

(A)
(€)

gifted and low-achiever children (D)  none of these.

g% FENS ©d Hae wrwEi F1 wa fen & o o o @

A
(B)
(€
(D)

wfavmne aes & fad

fr= dfers suafey sl & o3

wfawene vd = s Ivafs sl & @
= | FE A

22. Match the following and select the correct answer in the table :

List - A

L) Fantasy can be classified as a defence machanism
M) ‘ Defence mechanism protects individual form
Sublimation can be classified as a defence mechanism
O) Compensation can be classified as a defence
mechanism
Codes :
L M N 0
A 1 4 4 3
B) 3 1 4 3
e 2 4 3 3
(D) 3 2 3 1.
fr= %1 foem #@ g3 & ™ afae § | w8 s w 9mm Y
; T -
TR T F GE W dT F w9 A g Fawad §
T T e % auE O €

W

A
(B)
(€
(D)

IIIIIIIII@

TAIHLV T &THE oF & ®9 § Fitgha 3 o0 gHar & -
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‘' List-B

Denial
Escape
Substitution
Anxiety
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23. Students with academic difficulties face difficulty of C.T#'
(A) malfunction of the ear or associated nerves
(B) abnormalities in spoken language
(C) reduced mental alertness
(D) deficit in practical and social intelligence.
Wit waemel § w awsl #1 fF gue & amA e vsa § 2
() T IEE T T F G wER A F T w
B) VT % dier § SEmE w1 E
() wHfEE afFam &1 w9 g
(D) HEEIfE & gt gfg 3 F6 &1 9

24. Which of the following is a processing deficlency in students with learning
disabilities ?

(A) Remembering information involving numbers, poor sense of time and direction
(B) Frequent hyperactive behaviour
(C)  Little muscle control
(D) Reduced mental alertness.
sfermy frafraaell a@ ol § weao gt fr F | frg wer 3t S8 ot st @ 2
(a)  FEed vl gEAS # AR w9 F, 999 @ T 6 w6 g6
(B) WA s=fys wfwa =aEr
(€  wiEafeE wF e
(D) =% #AfaE FfEaa |
25. The purpose of formative evaluation is to
(A) monitor progress and plan remedial instruction
(B) know the understanding of students
(C) know that teacher’s objectives are fulfilled
(D) assign grades.
femiomenss qeaisa ®1 38¥ 8 indiresult.in whatsapp * 9352018749
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26. Which of the following steps of research makes research an action research ?

| (A) Formulation of hypotheses

(B) Action programme and final evaluation
(C) Generalization
(D) Rigid research design.
ﬁﬁﬁﬂam-mvhumwwhuﬁfmmmﬁm% ?
() ITEeTs F fmim
(B) W = frarama wE sifom gegiee
. (C) ST
(D) WY JEET F ARG / FER B | \
~ 27. Which of the following problems is not suitable for action research ?
(A) Improving handwriting of 5th class students in Hindi

(B) Study of the effect of using written praise on 7th Grade students' behaviour as
compared to verbal praise

(C) Efficacy of computer aided instruction over fraditional method.
(D) Use of Atlas and Globe in the learning of Geography.

et & | -2 e T s & ford s9gea e # 2

@) et A4 5 wan & faenfeidi & s 4 guR

@) 77 wa F famfid ¥ srwen w fafes wwiw @ difes wiw F 9v@ F1 qeEeE
AT

(© e fafy % SR Frge geEfiE SEEvE 1 avE
(D) vy % sfamm § weew @ | & a9 |
28. Which of the following is not addressed in the Right of Children To Free And

> Compulsory Education Act, 2009 ?
(A)  Providing training facility for teachers
. (B) Ensuring admission to children of migrants

(C) Deciding the academic calendar
(D) Education after fourteen years.
AT T s e # s, 2000 3 e A @ R W R T R T 2
(A) uwwaﬁ%ﬁuﬁrmaﬁgﬁmmm (B)/mwmﬁiiw&uaﬁgﬁfaﬂm
(0 T Feme wt fawifa (D) 1439 F yvamw #1 foan |
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In the National Curriculum Framework, 2005, the activities suggested celebration of

cultural and religious diversity of India, programmes to promote an attitude of respect

and responsibility towards women and compile documentaries and feature films and

screen them that promote the values of justice and peace are for

(A) Education for Peace (B) Education for Values

(C) Education for Citizenship (D)  None of these.

T TIaEEl ®9E1, 2005 H WG # aifdE vE giesfas fafaum #1199, fod & ufa g9

s famrrl @ gfesm i ag@ & 9w 1 JEeE @ ga fax 9w feed #1 @ 5

fearn forr meam @ = wE Wit § gig 8, F gE @ ¢ At

@A vt # faan & o 5% @)  ued =t faen € 1 wF
() Amfwa =1 foen & 0 o (D) ¥ | FE T
Maich the following and sclect the right answer from the table given below :
. List - A List - B
L}  Organising the experience of the seed germination 1. observing
process
M) A role play 2. questioning
N) Dialogue on gender-differentiated practice in the 3. participating
family
0) Processing and packaging different kinds of 4. reflecting
products in dairy farm
Codes
L M N. o
@A 1 3 4 1
B 2 3 2 1
@ 3 1 3 3
D) 4 2 2 2.
fra = faem %7 g3 & 1 afers ° | wE 3w F o9EA #
e - H et - &
L) @ SFa 81 F HIWE GG FE 1. FEErEA FA
M iy FaEfe / T @ 2. U gEAl
N)  uftar # dfie fadE Ft el @ g woEwtan 3. v e
0) wuwmen d fafvs gy & el #1 wfwa w1 3 4,.. fa=m /9w &6 0
7 fesn 78 &0
WE : indiresult.in whatsapp - 9352018749
. L M N o
W 1™ 3. 4 1
B) 2 3 2 1
(c) 3 1 3 3
D) 4 2 , 2 2.
IEmN GZiNDResuLTee] .
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There ane 30 gquesttons i all in this Sectlon.

All questions are compulsory.

Frose Fassage 1 (3. Noa. 31 top 27 )

Global warming 15 deltned as the merease of Lhe average lemperatore on earih. This
inerease In the earth's temperailure §5 the cause of natural disasters which are
hecoming increasingly requent all over ihe world. Carbon dioxide. produced by the
use ol chemicals and the burting of fucls. 15 the main canse of globgl wanmlng. gl
Ievels of carbon diexide (rap heal 10 the atmosphers. This can have sorious
canserienees o the cimale of 4 vegion.
Glatral warming can cause many natural disasters. Prolanged and widesprear
droughts, heavy floods, very severe storms and meiting of glacicrs are just some of
them. Thore will e muore hurricances and cyclones In many pans af the werld, [t
seems thal the world is totally unprepared to meet the crisks. Countries should got
together Lo And ways to check global warming. Vehicles, buildings. appllances, elo
must display high st andards of energy efllclency.

dl. 0 The word etally’ s simlar in meaning o

(" cloarly (15]] alwaws
[y complately i truly,
32, The opposiie of ‘frequent’ is
(AL infrequent (I35 unlrequemnt
Cl dislrequenl (Do anlifrequent.
dd. Which of the oilowing words 13 correctly spell ?
(Al Oppertunily (B} Oporiurity
T Oppartuntiy (T Upportunity.
34, Plok out the correct noun fonoed from the adjecloe high'
) lenglh (N |
] height (3 higght.
35.  The phrase (o make something last longer' can be replaced wilh
(Al povide [B] produng
1] longing 3 belong.
G8.  Which one of the [ollowing iz opposiie in meaning io the word global’ ?
A unlversal (13 local
1 urhan . ¥ rural
A7, Bok ol the correct verb formed from the adjective ‘natural -
{4 nalure = {B] naturadization

iC]  naturlle .?' TP | B natureze,
* MWDI .SULTE |nd|result|nwhatsapp 93520%8749
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Prose Passage [1{ Q. Nok. 36 to 43 ) C )l!}lD‘l RESULIE

Health 19 wsaally dellncd as a state of cemplels physical, wenlad and social well-being
and dors nol coensist in the mere absence of diseases and injurles, On the other hand.
wedllh s delined as abandance of valuable possessions. ilealth 15 wealth simply
brecause o healthy lide is 1l in all its abundance, joy and liloess, Without health, Lie
would Be full of ety and fear aboat diseases and inunes. With health on our side.
e automancally seems to be full of happiness and laughter.

The best thing is 1g concentrate on being heallhy and 1o avoud unhealthy aconaties. I
you sirive for hiealth, there will be olhers who will fellow you, will be inspired by you
to hawve thatl mutual objectve which is a healihy Hie. In this way, you can have many
mare: acgualntances and frlends. and with more [dends, slbeoasly yoar e would be
happicr and healthicr, Anything thal promotes health will aloost alweay? start and end
with Jow.

The word ‘abesencs s

A & noun J51) a verb

1  an adjective o an adverb.

The word ‘always” 13

) a4 eonjunection (B] an adverb

Ich a nr (] an ad{cctive,

In the secenul sentence of {he first paragraph, Lhe verls phrase s defined” 15 in
[A) Simple Pase Terise IEi Slnple Presend Tense

) Pasl Continoous Tense (M  Present Conlinuous Tense,

In Lhe third sentence of the last paragraph ( In Qus way, ... ), the verb phrase is m

Y Present Perfect Tense B Siniple Pasl Tense

12} Presenl Continucus Tense [ Shmple Present Tense.

Which one of the {ollowing can have the determiner "an’ ?

M healthy activity (B strong hand

(] activity (DY injurics.

The adjective 'full’ In its superlative degree ts

{4 st fill (B Tuller

I fullest [0 fallerest.

The passlve vuiee form of the sentence "Global warming can cause many natural
disasters” will be indiresult.in whatsapp - 9352018749

i Meny natural disasters are coused by global waming
iI  Many nalural disasters can be cavsed by glrhal warming
(T} Many natural disascers man caused by global wWATInlng
(D Many.natural disasters vould caused by plobal wirming.
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Piek aul the sendence wiih the correct passive volee form -

(A Al Lhe chairs have boen repalred

(Bl Al the chalvs are becn repaired

[ All 1he chairs have belng rapainesd

(] AN the chans were been repaired.

Which of the fallowang srntences has the correct structure of a question 7
1Al Where average lemperaturen 8 increasimg 7

{H] YWhere be averape lenpreralure increasing 2

I} Where is average temperalute icreastng 7

(D) Where docs avernge temperature increastng 7 *

Pick oul the quesilon to which the semlence "Weallh is defined ws sbundance ol
valuable possessions” will be an appropriate answer ;

Ay Why i2 wealth defined 7

(3}  Who defines wealth as abundanee of possessions 7
[t When can we deflne wealth 7

(0] How is wealth defined 7

Which of the following pairs of wards has the same vowel sound 7

]  book. shoes Iy  head. red

IC)  sfign, sin UM throw, three.

Whichi ene of the following palrs beglns with the same consonant sound ?
B cal, city (B EgHme, gy

[} Kpow. pame Ot perty. photo

The correct transcription of the word mews™ 13

£ VI ) TR [H] Folhs f

£l ¢/ mju:s [13] Sowca f

The role of English in India 15 that of

A ihe dlest lJanguage B the mother tongus
{C] = lerclgn langLage Iy & second language.

Fick oed the pair which falls under the category ol expressive or praductive langoaage

shills - indiresult.in whatsapp - 9352018749
i3l fislening, spoaking ) (3] reaching, wriling
ICI listering wriling [CH] spraking, writing.
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In the Blimgual method J L upnlﬁcl;;?nlﬁ e

[A]  sludents are gwen complele freedom to use the mether tongue

3} ihe mother fengue |5 used by the {eachor o cxplain the meanings al new words,
plurases, e

i)  the lcacher leaches the entire lesson i1 1he students’ mother longoe

[ the teacher encourages students Lo use the mother Longue &ll the Ume

In the Siuatonal Approach a leacher trics o

[£L) folloa @ syllabus with a list of sliuallons

i3] adus teaching to (he slbuation in the classmonmn

(0] create a life-like siluallon in the clazsraom ke teaching a lanpuage tem

M show how the situation tn the classroom i different from real-life sltuations.

Which of the following pairs is usually described as roceptive skills 7

{4  Lislcning, speaking (Bl Readding. writing

{C)  Listendng, reading (D) Speaking, wriling,
The use of wwaching learning malerials makes the activity of learning
(4 unnecessarily diffieall B dull and challenging
00 unnecessarlly slow ([} easy and interesting.

Languags learning 19 hke learning
(Al a sl like cycling IB) a stibject ke physics

(Cy  a colleation of facts as in history IR0 abstract concepts as in philozophy.

. Evaluallon b sducation 15

{8 conlinueids bul oot comaladre (L3} eumulztyve, Lot not centinnous
[  neither continuous oot cunalative  1D) hath rontitiaon s Aand cumulative.
One of the requirements of a good language proficiency test Is that il st be

Al complex 18] reliable

IC]  ambilgaous L emoyable.

An ateainnienh besl adns e neasures

(ah} ‘:an murh a learner has learnt of whiat he has Iﬁn taughi

(B]  how much a learner oocds Lo learn o pass an examihation

(T the speaking abiliy of 2 learner

13} the teachung ability ol a teachclrr?dlresmt'm whatsapp - 9352018749
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SECTION - III
LANGUAGE I
ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory. ¥
PI‘OOC(Q. Nos. 61 to 65 ) J!nun i-iul:¢:§un'ruin

61

62.

63.

64.

bb.

Many thousands of years ago all men did all types of work. Each man built his own
house and made what furniture he needed and grew all his own food. His wife made
all the clothes for the family and cooked food.

However, men very soon found that it was much better to divide the work among
them, so that one built houses, another made furniture, and another grew corn, and
so on. You can easily see that this was a better plan, because by always doing the
same kind of work, you can do it far more quickly and easily. So nowadays all work Is
divided as much as possible. Even such a tiny thing as a pin is not made by one man,
but by a dozen or more, each doing his particular bit of the work. One straightens out
the wire, another cuts it into lengths, another sharpens the point, another puts the
head on, and so forth, That Is to say, work is divided among different people.

In the third sentence of the second paragraph, “So nowadays all work ..." the word 'so’
indicates

(A) effect ( of a cause ) (B) cause ( of an effect )

(C) similarity (D) comparison.
The word ‘However' at the beginning of the second paragraph indicates

A a supporting idea . (B) an old idea

(C) an idea in the same direction (D) an idea in the opposite dlre;:tlon.
Complete the following sentence with the correct verb form :
All work ......cvvviiiiiniinnnns by all men

(A)  was done (B) were done

(C) has done ' (D) are done.
Which one of the following would be an appropriate title for the above passage ?

A All Types of Work . (B)  Types of People

(C) Division of Labour (D)  Life in the Past.
’I'ht;_. author of the above passage is of the opinion that the way people worked
thousands of years ago was indiresult.in whatsapp - 9352018749

(A)  better than the present (8) mOst proper

(C) most efficient - (D) not efficient.

&/ INDIRESULTR oo
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66.

67.

68.

69.

70.

71.

indiresult.in whatsapp - 9352018749
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Poem ( Q. Nos. 66 to 70)

a8 - [ W]
g .
The squirrel gloats o'er his accomplished hoard, @ L L ilﬁgglu - IH
The ants have brimmed their garners with ripe grain,
And honey-bees have stored
The sweets of summer in their luscious cells :
The swallows all have winged across the main :
But here the Autumn melancholy dwells,
And sighs her tearful spells
Amongst the sunless shadows of the plain.
Alone, alone,
* Upon a mossy stone N
She sits and reckons up the dead and gone
With the last leaves for a love- -rosary ;
Whilst all the withered world looks drearily,
Like a dim picture of the drowned past
[n the hushed mind's mysterious far-away,
Doubtful what ghostly thing will steal the last
Into that distance, grey upon the grey.
Who has been personified in the above poem ?

(A) The squirrel (B) The 3utumn season
(C) Honey-bees (D)  The summer season.
In the above poem line 2 rhymes with lines
A) land3 (B) 4 and 6
(C) 5and?7 : (D) 5 and8.

- "Their garners with ripe grain” ( line 2 ) contains an example of

(A) simile (B) metaphor

(© alliteration _ (D)  personification.
Which of the following lines contain a simile ?
(A)  lines 14 and 15 (B) lines 11 and 12
(C) lines 3 and 4 ‘ (D) lines 1 and 2.
The rhyme scheme of the last four lines of the poem ( line 14 to 17 ) is
Al abab (B) abed
(C) a b ch (D) abb b .
The modal may" can express the meaning of Indiresylt.Tn whatsapp - 9352018749
(A) advice (B) _ability

(€ POSS‘bmt}'len IRESULT (D)  prohibition.

NOUR BEUCCESRS FARTHER
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72. You must not park your cycles here. Here ‘must not’ expresses
. (A} permission (8)  prohibition
(C) inability (D) probability.

73. Most students got through the examination.
Here ‘got through' means

(A) took (B) passed

(©) understood : (D) arrived for.
74. A Shakespearean sonnet usually contains

(A)  seven couplets (B) four stanzas

(C)  three couplets and two stanzas (D) three stanzas and a couplet.
75. An elegy usually gives expression to a A

(A) feeling of joy (B)  sense of loss

(C) [eeling of victory (D) sense of defeat.

76. The number of pure vowel sounds and diphthopgs in English is
(A) 8 pure vowels and 12 diphthongs (B) 14 pure vowels and 6 diphthongs
(C) 1'2 pure vowels and 8 diphthongs (D) 10 pure vowels and 10 diphthongs.
77. The first sound in the word 'yes' is transcripea as

W /y/ B /e/
€ sal/ o /il
78. Which is the correct transcription of the last sound in the word ‘blue’ ? .
W /u:/ B /0 /
© / Uay D) /Joo/.
79. Pick out the correct transcription of the word ‘take’ :
(A / tek / B  / tek /
€ /iak / (D) / teek /.
80. Which of the following is the correct transcription of the word ‘know" ¢
A /new / B / nat /
© 7 nty D) / kne U /.

81. English in India today needs to be taught as
(A)  a library language .
(B) a language for higher studies indiresult.in whatsapp - 9352018749
O a language for communication ‘
(D) a<dmnguage to be used while travelling abroad.

82. English languagc teaching needs to be o
(A) teacher-centred \ (é) learner-centred i D
(C) lecture-centred . textbook-centred. S

@ Jﬁf—.‘e"t!.L[%m
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83. Communicative Language Teaching stresses the interdependence of

(A) language and psychology (B) language and behaviour

{C) language and communication (D) language and conversation.
84. The most important element in Communicative Language Teaching is

(&)  the structure of language (B) the reading skill

(C) memorization of grammar (D) .meaning.

85. A language learner makes errors because
iA)  the learner has acquired ohly partial knowledge of the language
(B) the learner has acquired complete knowledge of the language
(C) the learner enjoys making errors
(D) * the teacher has permitted him to make errors.

86. Complete the following statement :

Language tests are designed to measure ................coovvenn at a particular moment in the
teaching programme,

(A) the learner’s liking for the language
(B) the learner's knowledge of the language
(C) the teacher's knowledge of the language
(M  the learner's attitude towards the language.
87. One of the purposes of evaluation of learners is
(A) assessment of textbooks
(B) preparing a list of learners’ needs
IC) assessment of the learners' attainment
(D) identification of language functions.
88. Multiple Choice Questions
(A) reduce subjectivity in evaluation
(B) increase subjectivity in evaluation
(C) allow essay-type answers

Dy  allow students to choose multiple options.

89. A 'Recall-Type' test is a test of
A mefnory (B) imagination
(C) understanding ‘D) speed.

90. The purpose of remedial teaching is (o
(A) introduce new language items
B) Test recently taught items
(C) teach again the language items not properly learnt
(D) teach again the language items already learnt.

i moiResuLTe _ .
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SECTION - IV f @TE - IV

In this Seclivn, there are 2 sub-sectlons ie. 1¥W[a] Mathematics and Sclence anid

IV(b) Social Studies. Boih the subr-seclons cunsist of G0 Molople Choeee Questions sach.

The candidate has o chooge efther IVia) Mathematics and Sclence (O IWb] Soeclal Studies
as aclocied tn the Online Application Foan and answer all the 60 questions.

TH @z T § TvEr Auii v v aur faer v v wrovfees sterm E ) A 3amEl o
4 i agfAeT T # |
et T TV[a) 7T T FaAr SeET IV(h) WIS 30aTd, (79 =/ W arEa 1= o T
F U H FRD uE T ) g d vl i oA moamam
SECTION - IV (a} / W7E - [V {a)
MATHEMATICS AND SCIENCE ; wftra 7 famme

There are GO quesiionsg i1 all i this section. The candidates whio have selected this subpec
st answer all 1the questions. "

0 Wy H F Er::!:rﬁﬁ_ | R avaiii} 3 v fama =1 == 2 o= ol gvr =) wieml &

9)1. Which of the fellowing is not cqual w{3<)dn

3¢ i
[y 7@ e BT
AR ET o a2 ) s Y
EV A LTI
I} 27 i B
92 Which of the lollowing 1s ttue ot [a+ Bi2=a< + b*® + 2ah 7
AW Iis an identity Bl U 15 an cqualion
[} Bath (A and (B] are true . ] Metther [ tior (B3} Ls 1rue.
(a+bl2za?+b2sah FMAFATATNIOTE *
(A} TF UE wehiEEm # B TF TH SO E
(1 [AY 79 (B} BRI EAE D LA A T e

3. On dividing the expression 27x2 + 27x2 y + Gxy ? + y @ by i + Gx, 1he quotient and
remalnder are '

.:'EH' o .1‘.':il
B 9y o+ fixy + x? | sero (B] 27 v " 27k“ + 21y, - Bl im
1
iIc)  9x2+ Bxy + y? . zero D] 27x% + 27x + 21y - 81 "E
T 22xd 4 2708y + ey 2 & I T y 4 A AT FT T AT TR TH 9 A E
. L i
Al 9yT+ Bay + x2 .9 (3] :n"u +27x2 4 21y - Bl "‘y
) 9x2 +6xy+y? . YA DF 27x% « 27x « 21y, - 81 -
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There arc 5 studenls inoa class. [ the number of girls 1s ; tmes 1the nuwmber of
hoys, then H_m numbrr of boys is

Al 24 (L3} 30 "
iC) 36 x  a5.

T Fn A 54 Fammedl € 1o Aol 3w, ol @ Ten A D A A A sl A deen §

) 24 (o) A0
) 36 (I 45.
Which of the tollowing statements 15 nol e 7

i) BNuamber 25 is a perdoel squane number

Bl Number 38 {5 not @ perfecl square omnber

)  The zguare of an odd number cat always be written as subni of b congerytha

POSLtve Inlcgers

0] The syuare of an even namber can always be wodllen 48 sum of Two consecutle

posltive integers.
fRddsT wFT F@ T2 | 7
) HET 25T P o Hem E

_ B HEm 3gwE i = e T b

6.

(C] T fomm dem ¥ o W D FATR AR iR 4 A ¥ w0 wiE o & TR
() Tt T e A & e VAR TR & O R Y d §3E o 4 O & |
Which ol the loHowling slalemenls is Talse @
(Al MNiscount = Marked Price - Sale piice (B) hacount = Sale price - Cosl price
7] Trofll = Sale price - Cost price (I loag = Cosl price — Sale price.
e A BFA-m T a7

indiresult.in whatsapp - 9352018749
(A A o sl e - Py o B W2 = (o yen Wy oy
[C] = =Tawa P -7 O (D) B =" A -fawa g
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5T-2
Il a-hzo:d then numbers a, o J are in continuedd ratio il
[ eely = od (131 erer = faed
1 b=« (LA = d
wT a: b g @ 9ET . ¢, offagErTmTa A e € At
& ab=rod (B ac = ha
] b=e i o=
A sum ol Be. 210 iz divided between Eaol aned Shyamy i the ratio 7 0 3. The amounts
recelyed by them are respectively [ In Rs. )
1A 117, 63 (£ B63. 147 .
i) 1401, 7O (13} 1E). 0k
21079 = R R Em # 7 A% Awm W wA TaE ¥ g T A [ oeed H ) wa; 7
(A 147, 83 (B} 63. 1a7
I 140, 70 (v 180G, 3
Which of the felloaing is nol egual e the componnd interest on a som of Rs. 48000,

[or Lhree yrars ...'-1l the rale of 5%, valculaled yearly 7

A Compoutud nterest on o swam of Rs, 48,000, lor 1{,— yeara, at the rate of 10,
calculated on the basia of 6§ months,

1Bl Compound inletest on a sum of Re. AS000. {or 1 year, al the rale of 15%,

caleulaied on the basis of 4 months.

() Commpound inleresl on a sum of Bxs. 45,000, for 3 months, at the rate of 20044,
calculated on the Lasls of 3 months.

M Compound interesl on a sum of Ra. 48,000, for | year, at the rale of 15%.

calculated on the basla of 6§ months.
=1 ® & = wrer T ¥ 9w gt e F o T 48,000 e W, 39 F fEE, BasF R A,
CULEREL cl iU I indiresult.in whatsapp - 9352018749
W TG I AZ000F W, 15 7 F fow, 10w A6 W ¥ fram A
() THFAE FE 48,000 T T, 1T9 F B, 150, 4 TR R ivm
01 SFafs =19 48.000Fe W, oW & o, 20w M A, 3wEE 5 mm
(D} TRIE TR 48,0007 W, 1 9% F =, 15% 2 0, ¢ TR o e o

mumm @newesus eE ero
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1040,

1111

12,

133

»  (@WoREsute g

If A peraon X sells a saree of Re. 104 to ¥V oat a prefit of 10% and ¥ osello 1t to 2 al &
loss of L0%0, then how muach [in Rs, ] dogs £ pay Ior the saree ?

[#) 95 _ (Bl I Ok

[ 10} (14 Sy,

Fig H X LI F- R TR FAF1F O F MH T VR EE E o v o =10
TR A Z ol Gu B 1 dl 2 2w urd) W A T miem 7

(W 99 I=1] 100
[ Lzl (¥ S0,

Wwhen 1wo parallel llnes are ool by o trensversal Lhen which of the Telbowing 1s trae Tor
the angles lormed between them ?

A Ieeterlor suwles woo o shde of Leansversad ace equal 'I
I Adeermele sodles ore ool e

[c:] Corresponding angles are egunl

(¥ Exterior angdles oo aoe side of Iransversal are squal,

afe B WOR TE S ) TE R T # e &, F 9E =9 A wm o o e f 1 whE-m
R A R G

ta]  Tirdeh o % U AT WA A e i A By ¥
IB] TF=F F w0 AR AW

(C] WM R FrET EE R

() ks e 3 s g wWH AT ST OFTT AU BT ¥ O

What s the mindoeuny number of conponents required {or construction al a
quadrilalem] ? .

A [F B

1 6 oy 3

TF =4A w1 e ¥ A TEE w9 2 ¥ e wmmm W e e # 7

A} 4 LL5) 3

I f 1

Area of a irapesunt s @ven Ty

%) Base x Height (B ; Basc » Hright

IC) [ Sum of parallel sides 1 = height [§]] i { sutn of parallst sides | = hedghl.
mmana'ﬂajm A TIFEA BTN P indiresult.in whatsapp - 9352018749
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104, The surtace arca and volume of a cylinder of radius r and height b oare given by

reapectively

1a) wrih 2arir+ h} (3  Zarirshhardh
1 ;!inrzfl-:?:r:r[r+h] (L] wrdir+fbhardh
rFrem am pdard F A9 W e SRS A eSO

A mrih o darir+ k] (= darir+ k) arh

(4] _,%rtrzh, Sarir+ h] [17] arir+ M ard b

.
105, Which of the Tollowing is not & condition for the congdruencs of twa telangles ?

13 All the three sides of a trlangle are equal 1o three sides of other 10angle,
2 Two sides and the angle between them are equal.
(Ch Two ungles and the side between themn are sgqual,
(0 All the three anghbes are equal.
fro1 o A F59-61 =0 51 Pyl = wEtmey TR 0 % fog oo el & 2
gy =E gl & A et s J e w
By Tyl st 3 o w0 mem e R
0y wm oy T de W e S i o
iy A FT AT

196, The mark H‘HL is krnown as

) 1ally mack &1 IToruonoy

Il ple mark 1 bar mark.

feae i’:L ¥ indiresult.in whatsapp - 9352018749
A &= AR (e faE ) i3 =TT

] uE Tag . D) o2 TeE
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107, Histogram % wused 1o Tepresent Ca ’ !Hﬁ ;Iﬁ: - F?” T B

A non-coniineeus grouapesd freouency distrllat oo
Bl wngrouped frequency distributlon

L] contioweous grouped reguenoeyr dislmbution

[0 all of these,

s fag wefels w7m ¥

(Y TR T A AT =39 (1)  SAANIFd ALANA e
[C)  HE AT WEA (M1 7 A asd e
1%, The frequeney distribution toble for the data 7.2, 3. 5. 6. 2. 9.3, 2 15 *
A Scoze Prequency (Bl  Score Fregquency
.2 3 1 7
o 2 2 2
| L 3 3
E | 3 5
v | ] i
T 1 fi 2
B } ¥ o
1 i G a3
G 2
ICh Botb (A eond (L [ ] Meither {A) noc (R
HERFT 7.2, 4 5. 62 95 2 F T AEErm s wieen o
W OERR HAFFTTAT ([}  TERIT ATEETTN
p g ] 7
3 2 2 z
4 1 i 4
5 ] 4 o
G | b= i
¥ ] [ 2
Han it T 9
19 1 H 3
indiresult.in whatsapp - 9352018749 o 2
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10¢3. A group of siudents went fopemmaer hoelidays and performed vanous activilles s
given by the following dlagram. What iz the name of this representation of daly in

slalistics 7

indiresult.in whatsapp - 9352018749 C

{A] . Hiswgram _ - iBl  Par diagram
(Z}  The diagram D1 Frequency polygon.

ﬁﬂﬁﬂﬁlﬁwﬂﬁﬁrlﬁﬂﬁ,wmﬁﬁﬂmaﬂwﬁﬁmﬂﬂﬁfﬁﬁqhﬂﬁm
VEAEE ] umﬂmmﬁmﬁ?mﬁwmt?

A e _
) mE fe @)  WHERG S5y |

110, Hepresentation of ungrouped d.atp. h_-,r columns of equal width. unegqual length which
are equally spaced 15 called

1A} Histogram . : B  Bar diggram
(3 Ple diagram ' (D Mone of these.

IS e W, mtﬂmm{ﬂﬂfmﬁwﬁmmhmmm
e 8 indiresult.in whatsapp - 9352018749
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111, Mathomattes s Thol language in which e God hiaa welllen the whole world or

unbeerse" Whe soid these stalement 7

i3 Galileo [t3 Hussell

1 Plato [ Eleenuilion.

Uit s o F P TR A TP A wAE wfmE T w e e
i At 5 TEE

1 = TS g

12, According to Prol Shulee. the basie aim of Malhematicos Lleaching is
W helpful in vther desciplioogs
3 development ol menlal power
{Ch proper use of leisure tme

M o ake gware of the basic anad general pineiples.

WrRET [EES F AR TR U5 o Waies T ¥
iy ot famsd A mera w=E (H] THEWE AfE #1 fEE
W1 TR HER M3 W4iaE 30 @A fug-al 8 afesy =m0

L3 "The stadenls whoe cant understand goomedny are not allowed o oaler thils school.”

This slalemend is of

W Ardstotle {E} Herbert
(1 Plato (18]} Haowilloo,
' el sty T wee A o o famea § T an e |7 o e PR R 7
AT B wEe
C] == iy RREmET

114, InducUve melhod is sultable for
W establishing the formaala G selyving? Lhe protlemn by farnmes
(C] undersionding the problem (i o rqu]ame_F, the problem.
SR fifla forr 8 A forH FRTRE E 7 i iresult.in whatsapp - 9352018749
{3 I wm F F @)  Ho® A 30 v F14 F T
(C1  FEr FAAEA e D] =W w e o

) BOZ ~
IHII!IHII@ INDIRESULTE
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115, Otiginator of play wiy methiod is

116,

118,

IFINBINE (% iNDiRESULT

RT

A
[

{a)
[

Irroebel

Monesson
e fafg & T #

.
A=t

(L3

@

Dxadton

Vau

DIRESULT

B EUCCERS

1] Slgmund Fread,
H  EFA
v AT T

The aubjesi Mathematics is important in corriculurn since it

{A]

helps in the stady of solence subyjects

Bl improves loglcal thinking

{1t
{1

13 waeful in dally Hic
all of these.

Tfer famm 1 w2mea o oEe ¥ H=itE 0w
{ty FaEm gt F wegm d ogees #
(O} cAWEiE o f T f

i Mathematical lormulae
<] BMathematical digits
TR =i vrn F fem A A e wim T e o £ G
(A TR R
i HEned

While playving Bam makes a quadnlateral with four sticks and makes the {ollowing

C)

takle In a copy :

Number of quadriiaterals
Number of steks

(B
(1)

- Which of the [ollowing 15 not used in lanpguage of Mathemaitics 7

FART

1

[H] Mathemalical aymbols
(L] None of these,
B T TR ®
L 7 A FE R

1

b=

i

What conclusinn van be draws [tom his aclion 7
Eam 15 plaving

Ram 13 daing mathematics
Ram 18 doing mathematics along with play
Harn is playing and nol doing mathemnatics.

e % FHF TR AR Aol 3w i aen @ E oefe F i A R e e @

(A
(B}

]
L}

S v

2

a3

it =i doen

4

B

12

TEEL T view § o foerd e mEEm 2
i) TEEHTWE
(€} TH HE F e g %t

YO UR BUCCESE P

7 802

ER

B

1)

ER

il HE 4 BT s o
=5 © ALt

=T-2

indiresulﬁiin Whats%pp - 9352018749
L T

T 30 B w1 T S R |

[ B.T.O.



indiresult.in whatsapp - 9352018749 iz
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(N R

(118

125

122,

Illlllllﬂé-?, NGRS

L]
Bl e
(#)NDIRESU
Remedial 1eachimg 1= requared lor YRR AR RN AT
W mendally reiarded childeen (3 weEak studenis
IC] avernge atudents I all nf those.

TIETTF Qe F1 A& TE 8

W TR A aw F B free = %
o 2 1 = i o 10 G e e L o

What case mual be laken whiln seleciing a goad exibook of Malhematles #
(4 All the guestions 10 exerclse be salved
1
Bl Tt muar contain 4 sudficient number of esamples and quesiions in cyersise
[ _ The nwmber ol examples is more and qUesTIons i exercise are Iosg
i The number of exa{np]m are |esd and quesinns 10 exXereide arc move.
A = W TS F OA & 7O P AW #OaE W@ T v
(A W % T S T TR OET A
I "o oen O IE@on vd grEEt § v
(2] IETETN T UM WISl © WY RH
(L1 3ETETT AR T TR § W sawE Ef o
Exaunple of librous rout 1%
@ hTustard i  Gram
] Maice I Carror
WER AE oI #
I e =T
(&1 == i A
Cormmmudicable disease cholera is caused by
(Al Clessdrictiserre Lestourei K1) Muycabrrclerinrm nbercrtosis

1] Mycobacteritun [-r.";..lrar: [ In]] VYiliriu r_'h-r.:l[nl_ e,

T UTEAEAMAITTR 4 esultin whatsapp - 9352018749
W R fr I AR T ST tEA
() v St (o) fafer e )
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123.

124,

125.

126,

127,

indiresult.in whatsapp - 9352018749 . |
21 C.a)!ﬂpr.lﬁm Wl=  gro

Snmc organiams ohtam their [ood mom plants as well A from anumals. They are called
(v Omplvorous (13 Herbivorous

[ CarTiiveronas . (1 Preda lors.

Fo Ad-wwy dg -0l 08 Tl o i B e wFm g § o aF v E

W T (Bl TR

() TiEmER fior wEE

Fenivilhin is oblaingd foom '

(4 Virus (EB] Dacteria

[C]  Fung Dy Algae.

i e Aoty orw =t A § .
)  FEmmE I e

o B = i A E |

The transiormation of a lara inte adalt froo 16 known as metamorphosis. The
melamorphosis 15 regulated by '

Al Thyroxdne hormone (P Crowdh hgrmone
7] Adrenaiine hormnonc (10} Insulin hormaone.
s F WS ST A FOY S A Fed ¥ e @ fyna g g
() aromfer gt (e - B

(0] WigATEA g A L GER ek
Foel deposiied molarge quanoty under the aeean ses-borl s known 2
P Clathrate ()2 Liranium

[ Thubuo 10 Cellulose.

O &t aed & WA a F wen S W owen §

W wRIYE . (B rem

[} i HEEE

A otyect s placed between two plone mircors kept al 50° angle How many inages of
the object will form i the plane mirror

A Four B Flve
[ S (1 Yowbn.
TF TS0 O W TR TY T e v % o T T | e wm o as) ¥ e ke

CEL B - .

= indiresult.in whatsapp - 9352018749
= N ) _ (Bf 6
o = (NDIRESULTE 1 .
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1258,

124,

1310

131.

134,

2 (@NDIRESULTE ¥

BEUCCESSE FARTHER

27 Kilegram weight is cquivalent o

(M 27 mewilcr 3 A nemwrton

[y 2646 newlon (T 2700 newlon.

07 FRsam T gew wrm ok

N 27FEAF B YHTETH

W) 2T F M 2700 = F |

Molsc inlensity grealer AHEW oot v oen . b5 paEINTU] for fman hedy.
[A 10 <B (1%} ao de

[} 60 dB Uy BO 4R

................. ¥ AT e W) TR O WO o T e "
1A 1 dB B S0 doB

1) B D : 1B H AE.

Pruperly of solid matter, ln which material is direcily changed inlo gaseouns slale
withoul undergaoing indo liguld statce s known as

(") sublimaton (13]] conclensation
I solidificalon i1 vaporlatlon,

v Tt 31w T e Fm wd Fe TR seen A men o em s W afmin @
= whad § '

i) TR B A

[c]  faw=a =

Which of Lhes [mliowing planets does net have natural satellite 7

1] Mars 3] Earth

€7 Jupiler (3 YWernus,

feiifera 1 91 frm 77 & Wi R TOmE W G

ELG (B g

[C] R oy TF |

Who invented LASER ™

(Al W, K Rocmtgen Bl Godircy Hounsfleld
IC)  Tpeodors Malingan i1 Albent Elnstein, '
LASER =t mis fwe i #t 7 indiresult.in whatsapp - 9352018749
y  zEge Fe A 3 ER TIEwEE

B BEUCCESS ARTHER

() PepivER e @!HDHEMUFT (D) S WEEM

TRIRMIINT [s02] -
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1:55. Which of Lhe [ollowing metals exlsts in lgold state at room lemperaiure 7

(&) Sexlivm (B Meroury

] Sulplue (TH Thomim.

fAcifea ¥ 9 F17 46, FIET F TNOW FF SO F 9 A 7

A} HifEEm _ (5 HTET

Iy TR Ly uifm
1354, Example of thermoselling plaste 1s

[} Folythiecue (IE1] MC

[Ch [ ER RTTIIE ([ PFET.

et whfes F T3 # .

R GIEE Iy WEE

Cy I i WER
135, Polymer of coiion s

[ Crellulose: [E3 et

Cy Slucose L] Frorinar.

FUTH F FEAF ¥

(&) A s

() T (B e
136, Which of the bllowing pases 15 responaible Jor Grocnhoase offect

Ny CO, ' (B Co

o O, I NG,

. faeifea A | FA A T dien e F A s @ 7
gy O, (oo
1 O, (Dh WO

137, Masarmmn numbaer of elecirons moan othil of anoadoo s detenmined Ly

{ re = Crbrit MNuenber ]

Al 2o ' B 2n?

o] 2+ 1] i on.

oA i AN § Sfien A F T W AR

{n=%al FHE)  jngiresult.in whatsapp - 9352018749
4) 24T B 2R
[T T 0 . I = 1 B 1 p)] nEW 1
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138, Atomke namber and mass number of an element are 98 and 231 respectively.
The munbers of elecirons. protonz and neulrons in the element will be

&) WM, B, 153 (13} 28, 153, 153
Iy WH, OE, 25] |a]] i, 98, B,
farel oo =7 AT FATE TR T HE R o8 A 251 X, 8@ e e, WeiE A i
F1 TN FAd; F
A1 98, 98 1573 []#1] 98, 153, 153
Ty WH, 98, 251 (10 95, 86, 4.
138, Which of the following 15 wsed as artificial smoke or cloud al (lim and drama s1age 7
Iy Liguid oxygen i Liquid hydrogen
IS Liguid carbun dicsdde iy Liguid nitrogen.

fReR U6 w3 9 9 o Tm gl sy smen Tt & m Peaifem F 9 fes Tmm e s
&7

iy A HEEEA 2 W EEEEA
iy @ e e (I} =9 "2

140, Which af the following producis 15 vsed for construction of roads ?

(At Coke (B}  Dituinen

(Ct  Paraltin (DF  MWaphthalenc,
Ferfea § o - To0E 92 a1 ¥ Fag f o T § 2

(b W R fagda

) i I e

141, "Seienee is the fnvestigntion and [nterpretation of eveniz or phenomencon thal ocours Ll

nalural crdronment and within our oan body,”

Above mentioned definition of setenee 1a glven by

A Albert Einsteln B W. C. Dampier

1 J. Jacohscn 3] B. 5. Bloom.

" e At A vE T T yRE Y Wi v T geed W SR U s &
T faal® W <o fER 7 diresultin whatsapp - 9352018749

A FEd HEA=A B R Hle 3T

(€ Fe ST D it Wit =T
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142, Who established 1he iltan Parllarmaniary ancd Sclentife Tomomit sy foc impeovernent of

141

144.

145,

Science teaching 2
1% Jawaharial Mehmo {B] Lal Bahadur Shastn
i) lndirm Candhl m Moran] Deoal.

A B W @R F o sfege widorded g apies e w1 e s smol ndr et v

i AR RE B T TETEL Tt

(C] ¥ham o e fmn

which of the ollewing methaods 13 vsed for teaching sclcnee ln ihe ‘Lprr:ﬁrrm era of
lechnology

(W  Programmed [nsiooctinn [13] Team Teaching

(Y Computer Assisted Teachlng (0 All of these

TR A g 8, Frtetma § @ w0 @ wiara e e & fm aeem = e
(a) TG 3TTETH ' (B 3= fagm

(C) ey e fnem 1z g

Which al the following L& related o Psychomotor objective

Organisation B Perceplion

A wvalenng [ Analysis.

Trefafiaa ® A F .7 o= T T & el A & 7

&) BIFRYTTY (B]  HEReERm

[y HIFeH my  favemm

Taxpnony ol edurational aims ¢ objectives s glven by

W Krathwohl (B) B. 5. Bloom

IC} Robert Meger (1] G}r-'a.nle.
Hﬂﬂlﬁﬁ:ﬂﬂﬁxwﬂm’imwﬁmﬁﬁﬂﬂ:mﬁmw% 7

A WuEE . (B  aile THo oW

= indiresult.in whatsapp - 9352018749
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148,
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1510

JINDIRESULT ..
36 C VOUR BUCCESS PARTHER IW!

Which ol the iflowang methnds is not child centred meihod 7

1 Lectore mothod (B IFrojoct mcthod

(C Denwmstrate telhord 0¥ Laboralory method.
Frcfafent & & a7 o) v $fam fuly ot @ 2

i) e faf B WA Tl

(o) fafi [ wEETETEn fai

Which of the fullowing 15 not A demert of Project method 2
(W) Teaching haphazaArd and discontinuous

(Bl Costly mnethod

ICy  Availability of reference bouk

(O Belated with real lle.

TrofefEa 4 7 &R- @ g ogfa = < T b 7

i Toerr o oF fEejae i = TR

(C}  HEY TR ) T D) et ofem ) wefr
Haw mary maln steps are tollowed in Project method 7

By (ne 133} Four

iy Six M Ten

wait &y & e e A g e # G

Ay TH (3 TR

o = ) 2/

Which af the following 13 not a qualitative lesd |

&) Obsecvatlion (13 Cherk s

iIC] Raung scale [} Olyective questions.
A= ¥ w1 W oenE W 9 2

] TR L

IC1 T &4 3 == A |

Which of the foltoming 1s an audto-visual ad

[Tat) Iorumentary film LE] RBulletin board

) Cpldiasoope % Flannel board
FEAAFR W8 TR Y jngiresult.in whatsapp - 9352018749
A GREES (B Tl =

iy Faa-fomms 4 [ T AE |

mumisl DNDRESUTE e -
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SECTION - IV (b) / @UT - IV (b)
SOCIAL smms,mm@ H- i-lulcqug§runtia

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

wave ¥ F@ 603 € | o9 sl 3 3o fawg &1 997 fe & 3 gt w o afad &

91. The third decade of 20th Century was significant in Indian history because
(A) ‘Annals’ by Col. Tod was published
(B) copy of Kautilya's ‘Arthashastra’ was discovered
(C) Ashoka's inscriptions were deciphered
(D) Indus Civilization was explored.
g sfoem § 20 & vt F1 fwn v wEap w g
(A) FAA 2T F TR T OTEEA g3 B) Hifera fafea ‘ seforea’ =t wfafafy fach
(€) i & foeeral 1 ver T P oy wam F Ee g
92. Which of the following statements is not true ?
(A)  There was a decline in Samskaras in Vedic society
(B)  The spirit of 'Vasudhaiva Kutumbakam' has been taught by Vedic culture
(C) The treatise Ramayan is smaller in size to Mahabharata
(D) The elderlies are considered heads of families in Indian society.
frddsn mFE aga € ?
() Afew i e § Rl e € T
(B) ‘agfa gy &t wia A dfa w2 R
(C) THIEY WEINIG i e @y Y ¥
(D) MEE wEe d @ 2-ge # 9iER w1 g w1 S o
93. Which of the following is not a main cause of urbanisation ?

(A)  The decline of cottage industry (B) Rapld population growth

(C) Rising prices (D) Lack of essential amenities.

ﬁq ﬁ | IEFT 1 HH-H TGS FRO T 2 indiresult.in whatsapp - 9352018749
(A)  FEr I w1 B B) i sEEn i

(€) =t wEmE (D) eEvEs giawsi & svE |
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Which of the following was contemporary to the Harrappan civilization ?

(A)  Crete civilization (B) Egyplian civilization
(C) Greek civilization (D) Roman civilization.
ﬁqﬁﬁﬁa-tﬁawmmamﬁmeﬁ ?

(A W A (B) o= g

(©) A gy (D) T93 |wFal |

Which of the following statements is not true regarding the efforts made to improve
the status of women in Indian society ?

(A)  Vireshalingam Pantulu formed an organisation in support of Widow remarriage at
Madras Presidency

(B) Jawaharlal Nehru and Subhash Chandra Bose supported the demands and more
freedom to women

(C) Pt. Ramabai made efforts to improve the condition of women in higher classes

(D) Tarabal Shinde supported the orthodox beliefs regarding women by publishing
the book ‘Woman-Man Comparison’.

g g § Afeensdi &t feafa § gur 1 e d 53 1 vas F gl A = 9 | @

FYq e qE T ?

A e e ¥ diefemm dge 3 favar- faae & sada § uw den s @

(B) TERTEE Aew Ud GUW 9% A A Afeenadi F fou sifus wmamm vd w1 aue fEma

() dfem vnar A S snfedl 8 nfeensii i gdon gura & wars R

(D) MW%‘ﬁ—mm'mﬁmﬁmmwﬁ%aﬁﬁwmm
e T |

“The employees earn salary while peasants plough the king's land.” With reference to .
which ruler was this statement made by the Chinese traveller ?

(A} Harshavardhan (B) Chandragupta I
(C) Chandragupta Il (D) Samudragupta.
“wfardl Aaanht @ wrafE feam oo = e Sied § 1 96 9t # ge @eA e s &
g | @e1 a2 indiresult.in whatsapp - 9352018749

(A) wHaHA (B) ==H I

(€C) IR (D) HIETH |

Which Chola ruler captured Kanchi defeating Pallavas ?

(A) Parantaka | (B) Adityal

(C) Vijayjalaya ' (D) Rajendra Chola I1.
frm ie wTeE - oordl #1 g0 Hidl W Afw w faa 2

A SO | B) afed ]

(€ (D) TS 4@
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98. Which South Indian dynasty divided the State into Nation ( Rashtra ), Kottam and
Village ( Gram ) ? '

(A) Cholas (B) Pallavas
(C) Rashtrakutas (D)  Chalukyas.
aferor wia F forg oodw A Ug &6 T, Fw a9 am A fawfea fEa 2
a) T (B) geerd
() TEDZ (D) =g¥:| '
99. During the rule of which dynasty did Kanheri University became popular ?
(A) Rashtrakutas (B) Cholas
(C) Chalukyas (D)  Pallavas.
fohw woEw & vy F4) favafaaes sfeg gan 7 ;
(A)  TEFRE ; @ o
(C) - I g (D) T4 |
100. In which state is Rampurva's Ashoka pillar with Bull Capital located ?
(A) Bihar (B) Bengal
(C) Assam (D) Uttar Pradesh.
TAYEEl 1 guY idaren svie @ fFm = g § 2
W  faew B @
(€) 3Hd (D) 3IWWRW |
101. Which of the following saints propagated Sagun worship ?
(A) Kabir (B) Nanak
(C) Nimbarka (D) Dadu.
=1 | | "o ufs 1 yanaE d9d @
(@A) FHET (B) A
€ Frar® D) =F |

102. Which of the following statements regarding Mughal Art is not true ?
(A)  ‘Ibrahim Roza’ is in Bijapur
(B) Akbar got Fatehpur Sikri built after 1585 A.D.
(C) Akbar's tomb is in Sikandara
(D) Shah Jahan got Takht-e-Taus built in Delhi.
TS FIEAA el & AN H HiA-H FYH JA5A & ?
(a) FeRg H 'gamEm Ten’ ®
(B) I A FER i 1585 o F A aTEE

(€ R F AFaw fawsn ¥ R indiresult.in whatsapp - 9352018749
(D) YEEl A foeeh ¥ a@ qew | |
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103. Maharana Pratap died at the age of

104,

105.

106.

107.

(A) 67 years (B) 54 years .
TERIN WaTd F 9eq & T93 31 oAt

() 679 (B 5479

(© 57 D) 49ad |

The 30 per cent cotton cloth export of the total Indian export around 1800 A.D. was
reduced in 1870 A.D. to

Ay 25 B) 13
) 8 (D) 3.

T 1800 % 9-T™ vt frafa § gt $92 @ wfawa 30 @1, s i87o§oa%amfa:m
wfted w® T ?

(A 25 (B) 13
@ 8 (D) 3.

In Modern Age, women too encouraged writings for awakening and social réforms.
They wrote several books. ‘Aamar Jiban' published in 1876 A.D. was written by

(A) Rashsundari Devi (B) Kailash Bashini Devi
(C) Roquaiyya Sakhawat (D) Pt. Ramabai.

wfgensti 3 Wt SR wE amfaw guR 3 snyfe Fa J oad w14 & gieares faan o wm o
IR F3 TS fadl | 1876 30 § waIva U9 ' R a1 Afea of

@) TEg=d (B) ey AfeH &6

(© % dEEa (D) e T |

The Constitution of India was adopted by

(A) Constituent Assembly (B) Parliament

(C) Lok Sabha (D)  Rajya Sabha.

YRt wfaur 1 sifiga faa @

(A  dfqum 9w g v (B) HEEEW

(€ & | g (D) T |9 B[ |

In which part of the Constitution of India does the term, ‘Secular’ was added later on ?
(A) Fundamental Rights (B) Directive Principles of State Policy
(C) Pregmble (D)  All of these.

"4y fde’ weEmEe, o ag o Sirg T, @ Ieera vt w@faur F e vm o faem 2
() e sAfewr 3 (B) ifa free g @

©) mm(stﬁzm)ﬁ D) wTHIFRH |

indiresult.in whatsapp - 9352018749
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108. Which Article of Children's Bill of Rights ( 1992 ) says. "I have the right to know about
my rights” ?
(A)  Article 42 (B) Article 12, 13
(C) Article 23, 28, 29 (D)  Article 36.

Al F Afewn o (1992 ) W FE-W ATRD TE Fwa €, q@ A Afuwni Fowrm @
aafum%"?

(A) aa'v@z 42 . (B) =92 12, 13
(C) 3T== 23, 28, 29 (D) HT=T 36
109. Which of the following is not a fundamental right ?
(A)  Right to Equality (B) Right to Freedom
(C) Franchise , (D) Right to Constitutional remedies.
= | | F19- Aifas sfusr 781§ 2 *
(A) FEEA F AER (B) TEaAa & fuwR
() wasH = AfyEFr ' (D) HaAwfiE IvErl # afyEr |

110. In which Article of Part 'IV a' of the Constitution have Fundamental Duties been
incorporated ?

(A 51a B) 42
() 50a ' (D) 52.
e Feer |iEauE & 9 IV E' F fFe s d wafea € 2
(A) 51 ‘(B 42
(© 50 D) 52

111. Which of the following statements is not correct regarding the Election of the
President ?

(A) The objections related to the election can be raised only in the Supreme Court
(B) The votes of all MLAs have equal values
(C) The votes of all MPs have equal values
' (D) The nominated members cannot exercise their franchise.
Tpfa gAE | gEta Te 9 ®
7Y Wﬁmﬁuaﬁamfuﬁmmﬁﬁmm?
(B) Wit faurgsi & wa 99 gog @A €
(C) &t WiEal % WA WA Yod T ¥
(M AT T waeE § 9r g A wEa €
112. The 73rd Constitutional Amendment for making Panchayali Raj Institutions more
effective and more powerful was passed in

(A) 1990 (B) 1991

© o2 (D)  1993.
Yargdl TS SEIE F1 GWE Ud G9w q9H F fag 73 ° dfawr geirvE fea od ofa gan 2
@ 1990 B 1991
© 1992 (D) 1993.
indiresult.in what - 9352018749
I.'l.llll Q.J!E.D!u AE §H Ii ;.gzl—nj Iresutt.in wnatsapp l —




indiresult.in whatsapp - 9352018749 .?'
ST-2 92 )IN IRESULT W

HER
113. What percentage of Women's reservation was availed of in the election of local bodies
in Rajasthan in August, 2010 ?

(A) 30 (B) 33
(C) 50 (D) 10.
oA A e, 2010 § g e et & gam o afeensii 3 smeam @ fFa wfave w5 e
334 ?
A 30 (B) 33
(€ 50 (D) 10.
114. The Head of Municipal Corporation in Rajasthan is called
(A) President (B) Mayor
(C) Chairman (D) Nagar Pramukh.
e § AR e & wg@ w5 Fed € \
(A)  FvIm (B) HETIR
(C) =vufa (D) W 9@ |
115. The total number of members in Legislative Assembly of Rajasthan is
(A 200 (B) 180
(C) 160 (D) 210.
e fauray § Fe weel W g '
(A 200 (B) 180
(C) 160 (D) 210.
116. In which ocean is ‘Mariana Trench’ located ?
(A) Indian Ocean (B) Pacific Ocean
(C) Atlantic Ocean (D) Arctic Ocean.
g merarw # ‘afegrn vd ' e ® 2
A fe= mRETR (B) W HETETH
(C) . 34 HEEIR (D) 399 4@ |9 |
117. According to arca which is the largest and smallest continents of the world ?
(A)  Africa and Australia (B) Asia and Antarctica
(C) Asia and Australia (D) North America and Antarctica.
e F IR 1 fava w1 ge) w9 3 gad S wen ¥
(A) Wi @ e (B) ufwan wd u=rhfea
(©) ufwrn ud smefern (D) 390 A vE TREeE |
118. Which one of the following is not a sphere of the Earth ?
(A)  Atmosphere (B) Ozodosphere
(C) BfSsphere (D)  Lithosphere.
frefafaa 4 | #i3-1 w gt @ ofmves 78§ 2 indiresult.in whatsapp - 9352018749
(A argmsa 3 (B) 39 AUSH
C D [ JUvEd |
@ T (#npiResuLTs
T 1602 ]
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113, Marble 1s an example of 6.? !HPJ“J';;%”!-IH
(A Metamorphic reck 5] Sedlmmlar_'.-' Tock
{1 Igneous rock (1 FluLordc rogck.
HITRTHL U IR ¥
W HrETEHT TgE T B FEEE uEE
iC) AT WA W ) e wEE T o
120. The combined aclion of weathering and crosion 1s kaown as
(A Docompositlon {3 Hydratlon
(] Carbonation (D 13enudauon,
HATEF T STYeET W WOE T A e
(A HJTETR (B]  FHTELO *
() == M) AT
121, Which vnc of the following is nol 3 metallic oinersl
Ay Bauwxiie B2l Copper
] Cluonrdte I Mica.
Frfetiaa o & ®5 M U wifEE mi T oo
A =TT =TI
C]1  WHER D] ANF |
132, Which pabr 15 not cormectly matched 7
Type of Resource Example
(Y Non-renewable Resgurce a— Matural Gas
&) Matural Resource — Waler
T oo Resource . — Foresi
D) Uguitous Resotrce — Copper.
iR ot
THEL T Wh IR
{4]  STIRTRIOIE FE — v e
{B] ArFfaF w@anA — L
{Cy o HEmT — CL)
0] T A - e
123, The coneept of sustainable development 1s related o
4 maxdmum use of resouroes {B]  conservation of resources
ICl  #mruatrial use of resources () development of power resolrees.
T, Wit o A sEamn ) owe indiresult.in whatsapp - 9352018749
(A HanEf ¥ Afuwem 3oam 9 B EEmT ¥ e g
{C) ﬁmﬂﬁiaﬂﬁrﬁmmﬁ iy & A e E e

BN @nomesuE (es2] - ro
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125.

126.

127.

128.

129.

indiresult.in whatsapp - 9352018749

“  (#nomesutg |V
One of the main causes of wildlife loss is the
(A) loss of natural habitat (B) construction of dams
(C) flood (D) urbanisation.
T Sdl F FH & F UF GG FAV
(A)  wiEHfaF wEmE = A E @) =il = fmiom
(€ =’ ¥ (D) ATIH |

In which one ol the following regions of the world intensive subsistence agriculture is
most prevalent ?

(A) Temperate region (B) Mediterranean region
(C) Monsoon region (D) Semi-arid region.
fava # frafafas 4 4 fFa wF wew § we fele o sfes =i § 2
(A)  virdTe g3 (B)  YHHEITT 9aY
(C) =g W (D) I T2 |
Which landform is known as ‘roof of the world’ ?

(A)  Great Himalayas (B) Pamir Plateau

(C) Tibetan Plateau (D) Deccan Plateau
FA-|1 Y- ‘fava #it za’ %mﬁmm%7 ‘

() #E e (B) 9Tt #1 9B

(€ fissa =1 @R (D) =fEw 1 9er |

In which state of India ‘Kal Vaishakhi’ winds are usually prevalent during summer
season ?

(A) West Bengal (B) Assam

(C) Orissa (D) Bihar,
m%mmﬁzﬂwmﬁm ‘e et T wed € 2

(A) ufvaw sma (B) #EH

() =g (D) faEw |

In which area of India is 'Yak animal found ?

(A)  Sundarban (B) Arunachal Pradesh

(C) Darjeeling (D)  Ladakh.

Id & fog & § I oy faem & 2 indiresult.in whatsapp - 9352018749
A  g=Ed (B) 3EUTEd WY

() zrsitferm (D) @EE |

Which one of the following places is having manufacturing unit of antibiotic medicine ?
(A)  Hrishikesh (B) Dehradun

(C) Shimla (D) Chandigarh.

frefafas § | 59 @ = W wdamfes casi &1 3aRs a8 & 7

w zﬁ%m - B) e

(D) HEME |
@H.!ﬁﬁi.!-w%@ _
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130.

131.

132.

133.

134.
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In which year was ‘Consumer Protection Act’ introduced in India ?

(A) 1982 , B) 1986
(€ 1988 (D) 1991,
uyd | ‘39t e sfufm’ fem ad § @ e ?
(A) 1982 (B) 1986
(C). 1988 (1) 1991.
Which one of the following statements is correct for the Aravali ranges ?
(A)  Helpful in rainfall (B) Suitable for hydro-power production
(C) Act as a water-divide (D) A barrier in transportation.
frcfafaa § | F19-91 U %97 swEe Afordl & fag @&t @ 2
(A) =9l § geEw B) = fae@ 3 & fog I
() & favrors 1w & § (D)  wREE ¥ o sEaeE |
Which one of the following is a traditional method of rain-water harvesting in
Rajasthan ?
(A) Tank (B) Well
(C) River (D) Tanka.
frefertaa § @ #- mmmﬁﬁwmmaﬁmﬁﬁl% ?
(A) drerE B) F
© (D) @i |
In which district of Rajasthan is Chhabra Thermal Power Station located ?
(A) Kota (B) Baran
(C) Jhalawar (D) Sawai Madhopur.
ey & for o o oag oy ool & fua # 2
@  F= , ® &
. Q) wEmETE (D) Ha&E JHIE |
Which of the following pairs is not correctly matched ?
Industry Location
(A) H.M.T. — Ajmer
(B) Ball Bearing - Alwar
(C) Cement — Morak
(D) Electric meter Jaipur.
frafafas 9 & FH-w = we gafaa 7@ t ? indiresult. in whatsapp - 9352018749
EU L =
) fegEE Wi T () — CELE
(B) e fagfm s T
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135, The maln mica produclng distnets of Rogasthan are

M Ajmer, Bhulwata andd Jalpur [ Udalpur, Chittergarh ancl Bajsameantd
[y Bhilwara, Chillorgarh and Kola (TH Jaipar, dauaa and Tonk.

TR # T{E AMF Tooed Ta ¥ :

Ly AR, Wi s e g =gy e s s

i) e, Pt s s i g =S s ETE |

136, For herltage congervatlon, in which yeat Monument, Archaeological S1le and ﬂ.nuqujt}
Act was inplomented n Rajaathan 7

(g 196 0% 1897

(€ 1947 T2 1952,

fammmm & Trem ¥ T, 9 WA TE WA AE, Afufm aeem § o gan 2
iy 1961 JE] 1971

(1947 (o 1952, '

137, What is ‘Balad™ ¢
14 The tradivon ol Mand singing
Bl A berd of bulls. en whose back commaoditics for sale are earmicd by Binjaro
I} A smemym™oal Anlayn
) The event of laking cauls o odther land areas 1o explors the availability of {ooed-
waker i Lhe walee of famine.
A TR 2
Iy HIE W R IO
A Trarl w1 oA de T, Tansl dte W A e fAe #g A v A ok
(o I e e DR e
L) T oA T R E A T e A oary o i e = e
138, Which of the followlngg statemenls reganding the Rajasthan hero Manikyvalal Vorma is
ol roe 7
L) He was born at Bijolia
{#  Hoowas a prasart o his carly Wi
)]  He was connooted with the Bjolia peasant movernenl [or o long e
(12 He bevame the Prome Mintsier of Cireater Hajosthan afler independence.
TAEAR F FAEE AR TR R A e A S W s ane $ 7
[y et S Foeitfern 4 gaa
(B} T arr =T ow e & v 5 P o
[Cp ¥ faEtom R oA o AW T o T
[1)  TETAW WA & W A gEO T F UNEEAT
138, 1o bow many viplumes is Valan A Pholward’ the ivaduable Heeracy e I.lage ol Rajasthan

is divided inwo ? indiresult.in whatgapp - 9352018749
LR Bl 0

cr 1 - D 15
mﬁaﬁmﬁmﬁﬁﬁw'aﬁﬁwﬁﬁ'ﬁmﬁﬁmﬁﬁwﬂ ?

L"'-I' (13 1)

w186
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140. In which district is the historical place ‘Mangarh' situated ?

(A) Dungarpur (B) Pratapgarh

(C) Rajsamand (D) Banswara.

et wet ‘Hrg " TR F f foe J feaa @ 2

) w B) VANTE

() TSEE=R (D) wigarE |

141. The study of Social Science is necessary for

(A) The understanding of the socio-cultural structure and its relation with
environment

(B) The development of infra-structure facilities
(C) The rapid economic development
(D) The understanding of educational problems. X
amifae faam s 1 smavaswa €
(A) amifae-wiepfas a1 @ 39 vafee § gy # gaea & fag
(B) wtamma gfawmsh ¥ fawm ¥ fa
(€ i s fawm & fog
(D) Heforr gwems 1 wuw F o
142. Which one of the following is the new concept in Social Science ?
(A)  Accumulation of factual information
(B) Study of social customs
(C) The study of human relations and betterment of society
(D) The study of international relations.
Frefafaa 4 § amfas fagm #t 767 d%en FR-9 ¢ 2
(A) AEF G B THA D
(B) wmifss waisll #1 A
Q) g Tl F1 Hega T /e S A S
. (D) H=ROEE g w1 g |
143. What is a prime necessity for a Social Science classroom ?

(A)  Site, formation and space (B) Attached library and reading room
(C) Display facilities (D) Facilities for experiments.
amifas e sa-wa # yju Smwwsm qJ&@ ¥ ?
(a) feufa, s e @ = (B) YS&EE T8 qraAerd & G gl
(€ weEA H g (D)  wan =t e |

144. The classroom processes in Social Science help in developing
7\ K.nowledge (B) Skill
(C) EXpression (D)  All of these.
mmﬁm—mmmmffammt
@A 1 (B) Fw

© sfrfs @INDIHESULTE D) wHRAFF

_ ll'll"“ |nd|result|nwhatsapp 93520}%4%
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( Read ufmmﬂmm T W)

IMPORTANT / W=Iqui

rs’f

i Section !l (Language 1) a candidate has to attempt th ucsuons of the langu which the
Language | in Lhc nline gpplmaumn Form. e -1 o = St s o w

FUZ ) (W 1) 3 3T W mﬁmmaﬁmﬁtfmmwmwﬁﬁwmwimmwﬁmtu

In Section Il (Language 1) a candidate has to attempt the guestidns of the lan hch lecte
Language [1 m th 5nlme Ag canon Fonn Thc Llngu:gc be dm‘crgm - S"GSC N o N ot

mm(vmu) bmwmcrm Fu g F m?d#‘l&mkamiﬁmhwumn#hﬁ*ﬁu

-'a'.. o Mmm'm&r.:a.m y of Question Booklet Sories Code
wm‘mlmwwwhmdm!ﬁzmmmﬁm

The candidate hna to answer of lhal sub ect in Section IVa) Mathematics and Scie IVb) Social i
candidate in the Online A&phcauon Forrﬁ‘ s Bepow et ™ Pigtios S sriond By the

l[ a canmda(e answers the questions of the langu or subject other than selected in the Onli Il
shan be rsomllﬁmsmrblg or it ncF nav;‘:ul be treated 3 % o g Appsation: Fumn. the
*m f’ﬂmmuvu a & el w s won §, o fowg @ 9gw st

g:a%hmhmwdvm"wmhwawﬂﬁmammmmmﬂmtnﬁﬁmmtdwm
gt 7 Em

10.

12,

Correet methed | CoORRECT | A | o ianhd * ymowa / e | [wRONG / o | [WroWG / miever | [ WRomG / e

Read complete instructions carefully and fill the detafls from Sl No. 1 to 5 in the OMR Answer Sheet andgSl. No. 1 to 4 in the
Question Eooklc( If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the

seque sansmgd nng{;n{mrgo{yoprOIl Answer Sheet.
g&m FHE | § 5 7 OMR NIz U4 FWE | A 4 7 v YRw (geerz) W vt afs s em wi R
mmmﬁ‘a\unvﬁzﬂ ool ylige B £ e Sanlt gl ool
%Q%o:m%tc&m?mm&lwwm&? An‘: lsomsmctﬁtoomwmkoawmmmu
Question r con
m%ilmwwmm % %B;r?t R Jkad %ﬂl tgshmgﬁmi
ks:mkﬁfwwmsam 98 7% ¥

are of MCQ (lnluple Choice Question) type. There is only one correct answer to each question carrying one
There will be no nega

MmMmttum % ahmmﬂﬂdhﬂﬁa % us b1 e & Bl wners ow o R

All questions uestions of Bections Il s
mwtmuuémmuqzmqiwﬁ*m*twﬁ“ tm%n
In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in

uon/s du € exam .
;: fa}r‘swﬁw%aqm:wm 1 gim | o & pafy O vl F e wew o Wi S wamn
Rough work if any, may be done in the Question Booklel only in the space provided at the end of the Booklet. Do not tear it off
fro, lhe Quesnon Booklet. No additional paper shall be
TH #14 ¥ T w54 A mmmﬁnﬂihﬁmgﬁmﬂ:&mﬁuhﬂmwﬁsmmﬁmmu
Use of Log tables, Calcululor Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not

lt in 1squal catjon.

mw t‘*m&ﬁmmﬂmﬁnﬂmmwﬁWM/mmwhnﬁmhwﬁ
W wEa -

OMR Answer She vnll be provided along with Question Booklet scparately,

OMR ¥z, ¥ & T HARE FEH B AR |

The Qucsuon t will be issued at 1:45 P.M. and the candidate musl fill all entries in Question and OMR Answer

Sheet. The Question Booklet seals shall be opened at 2:00 P.M. r opening the Question Booklcl. ensure that anyﬂfn{e

question is not missing / not printed / torn 'l/ upeated In case, you firkd any defect anyw in the Que: et, immi ely

inform the Invigilator and ﬁt it replaced within 10 minutes by the Invigilator, Warning Bell will rmg at 3:25 P.M. and the last

m&“‘""&%am;.sﬁam‘mammammmmwimmamm @ b

6 F 7 ont T e i 0 o 7 S et 8 7§ e e
/ / WUTH W o ™ ¥

o firrz % i dtwE # wER T Wm oet wrag? 3:25 W AT U S di% 3:30 W Wi

Wnu: your Centre Code, Roll No., OMR Answer Shcel No., Question Booklet Series Code Name and put your Signature in
the space m:heQ nnonBoo t as well e O IhAn Sheet.

mﬁnuou =X WA, W qfee d@i wie, A el @ S wemn et
With each question you vnll find 4 powble answers marked by die Ietten A, B c & D. Read each question carefully and find out
which answer, according to vou is correct. Indicate your answer by propriate circle complc(e in the OMR Answer

Tt m“‘}."a”é‘a"‘é'?f{é“# ¥i v 9 ”"% “"’ zni"é“&’#’w?” o 4;..&: s
wRIE % AN 3 A W T B R | IR R g & e e mhmﬁmﬁlﬁahwmmm

ojo)e) - |BOO0O| |0g00| |0000| |[Ce0 e

OIR Answer Sheet is designed for computer evaluation. If you do not follow the irlstructions given above and at the backside of
he OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

;:;%zd#""f%mmmmﬁ“ zm,wm 1 7 ms;gm"gu oun ¥z ¥ gt g fed . Feke v et e,

No cam‘imte ‘}t‘!?uto leavetgn Examx’raaaor'\h H‘uldm }{.he l'mﬁ:ll betll OMR Amwer Shect is carbon:e:: in duphccte havin.g
rfora Candi ou! z he m e Cl-llll ﬂ
hat the'm inal sop) e:rnotnmuula!ec. idat “"MM

%é&“"‘?ﬁ&'ﬁ’v"n’%’?a’” ‘M‘;%-rh"% L
T T P U RS S A e WA
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